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Instructions :

1) Verify and ensure that the Question paper is completely printed.

2) Any discrepancies or Questions about the paper must be reported to the
HOD within I hour after the examination

3) Students must check the course title and code before answering the
Question paper.

s*fui rn{q futa frsd I

Write the correct answer
1. frWt{q frar q:?

1oxl = 1O

er) Udq{: e+r) wdE+:

z. ftrqrQts mfi wt
oI) +{nT s{r) *er*

3. frt€rri{q gils are @1
e{) +fl w)q

4. {rmr gTrq @ elincrurrui
q) rprqre e{r) {r[r{qH

g;qn fu {qq enufut

3{) Nil en) q
{Eqi sfr gr$+: gffiEnft?
et) *uft ffi) qgN:

7. w5rgtrq: qr: fttg.ar:?

er) qrql: er) gsqr:

AilWrft ry* s*q:r
er) t*or: en) goqr:

9. gm: utut urrc6: Fer er&t
3I) guTtg" ffi) rq*-g:

10. ErrR; lxi tqmr qq eMt
or) Ed

g) tt;rtn:

E) qsilq{r

E)M

F);rffi"

F) Gtutrqri

E) rq&:

F) stt:

E) *tr:

p) qq*g:

F) s{er*(

$yetu:

$)ffi

t) rrgat

$l ausn

$) Tsq

$) qu&:

$) Tn:

$) q'*t

$l qt*e:

$) erq

ffi

en) EIq
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rr Ss ry E{t fdrffi | rxlo=lo
Answer any one of the following.

1. errq*ys tu ura 5-ft: eftrge rq*r frsd
Write an essay on the date, place and works of Ashwaghosha.

2. gffirfrd irrerer TMR qnivi fusat

2x4=8

4x4al6
Translate and explain ANY FOUR Shlokas.

.t') ilfr1uweftsrqqrd@t

Write the summary of third Canto of Buddhacharitam.

Ed frrv{d: EgAqfi frscr
Write short notes on ANY TWO of the following.

1) fu4t 2) q6: 3) rersotsdr 4) r*Ei gqffq
vg rf ydGrrrq srgq( Ean frrqp5 I

*ds FT&Er ws@ s{rflrqflTrs fu6rrqf f

. 2) u{e;} fr'q: gilqrrrilrg: frrrEqrcnq fui fi'qlpt

'rt*fr qrarqqfrrq erqr *o* +i q{€T g*qrr
3) d gggt sugfr{ +e FdR {wffir aerrQr

rrtgqdqDMqs+e@rr
ir-fi: $;wR; uq lwfift tar ftffi; iezrwtgrfrr
Rqrqr Erffi \nr$dh qr+{ E'ilrrtlflr.ll
qrdrqiurq Gfr: gnfr @r
{fruri Fe\@ rrffirfr Edmd rrgqfirr

6) aRg;ert q'Pr *erqrrn: ft;rq) Egrf&a qgs'Fn;t

wdtqr$*{g+eTqrun rtr aguike r6gurm: I I

"4)

"s)

v xqrqi qr{qrdi r<s frqqrfr |

Explain with reference to context ANY THREE of the following.

1. sffi$ qrrr Effi.i€E:t

z. yilqi .ni rtcrqemq r.rgi: I

3. f*gurMg:l
4. qrlr Ern ;nq qfu qtr: I

3x4=12



-3-

vr rir3rilmrqr Ef,{r& fdrsd I

er) qB etrq fusd Fanrtq) | Sx1=5
1) m*q: 2) tr*e 3) qtrq,n

4) T{fr s) 6}fi 6) w{ Eq

7) qEff s) t{rffi
e{r) qq qfr''q{i grua (qanr+e) | 5x1=5

1) qi 2) EFEI 3) rrnr{
4) Afrq s) wn 6) vilrqqn:

7) E'il: s) qitq:

E) yr( rrg€q ryt i irlrii / qrq.fiqrcrqr frrsar tx4=4
qqrft'*EFsrF{ Tgqs sa:t qrnt g-flT s* vdt ad: vrfitu Erqr}:

fu*qrt sr Eqqel-qFFEFr tgeqs g*t erqr Ewffi urrql*q
g*t ffi vrqril: 

" 
iter furt

vrr q*qil w{qivr qBf,r rsrmq Eil{fu ftrqct 5x2=10
x$rQe .r{f{r:t ftffie q-qrsat v,rae estt wS {qukdr

fuTdqtil\l qgftqr gsqrqi rr6?il *ilqt {frQ 6q6fi ffif {urrr:
gsflRt qsd EcrR fu*T:t gtr* TdR ra: I qrg: wd rrq yqrfrt wr*
sftqrfr Crwqqt

SFIT:

1) qI{EI 16:?

z) rrqufuai frhr

3) 6rnfig;"mt
4) ra: uQi T6R?
s) qql: qei eqrftr

at, rl, {, rl, rl,7.r .|! .a! 1! .at


